
  

 Page 1 64/2/1 

narjmWu àíZ-nÌ H$moS> >H$mo CÎma-nwpñVH$m Ho$ 
_wI-n¥ð >na Adí` {bIo§ & 
Candidates must write the Q.P. Code 
on the title page of the answer-book. 

 Series ABAB1/2  SET~1 

  àíZ-nÌ H$moS>       
amob Z§. Q.P. Code  

Roll No. 
 
 

 
 

ZmoQ> / NOTE : 
(i) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 9 + 1 _mZ{MÌ h¡ & 
 Please check that this question paper contains 9 printed pages + 1 Map. 

(ii) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE àíZ-nÌ H$moS> H$mo narjmWu CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 Q.P. Code given on the right hand side of the question paper should be written 
on the title page of the answer-book by the candidate. 

(iii) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >10 àíZ h¢ & 
 Please check that this question paper contains 10 questions. 

(iv) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ Adí` 
{bI| & 

 Please write down the serial number of the question in the 
answer-book before attempting it. 

(v) Bg  àíZ-nÌ  15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-
10.15 ~Oo {H$`m OmEJm & 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-
Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 15 minute time has been allotted to read this question paper. The question 
paper  will  be  distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on the 
answer-book during this period. 
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: 

:  

(i) 10 

(ii) 

(iii)  

(iv)  1 3 2 

 

(v)  4 3 

(vi)  5 6 3  

(vii)  7 9 5  

(viii)  10 5  

(ix) 

 

IÊS> H$ 

(A{V bKw-CÎmar` àH$ma Ho$ àíZ) 

3 2=6 

1. CÚmoJm| Ho$ {bE n[adhZ Ed§ g§Mma VH$ A{^Jå`Vm  ? ñnîQ> H$s{OE & 2 

2. J«m_rU {dnUZ Ho$ÝÐ {ZH$Q>dVu ~pñV`m| H$m nmofU H$aVo h¢ &  Bg H$WZ H$mo ñnîQ> H$s{OE & 2 

3. (H$) ^maV _| I{ZO H$s CÎma-npíM_r àXoe  noQ>r H$s {H$Ýht Mma {deofVmAm| H$m CëboI  
H$s{OE & 4

2
1

=2 

AWdm 

(I) YmpËdH$ I{ZOm|  H$s {H$Ýht Mma {deofVmAm| H$m CëboI H$s{OE & 4
2
1

=2 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) This questions paper contains 10 questions.  

(ii) All questions are compulsory. 

(iii) This question paper is divided into five sections  Section  A, B, C, D and E. 

(iv) Section A  Questions no. 1 to 3 are Very Short-answer Type Questions, 
carrying 2 marks each. 

(v) Section B  Question no. 4 is Source-based Question, carrying 3 marks. 

(vi) Section C  Questions no. 5 and 6 are Short-answer Type Questions, carrying  
3 marks each. 

(vii) Section D  Questions no. 7 to 9 are Long-answer Type Questions, carrying  
5 marks each. 

(viii) Section E  Question no. 10 is Map-based Question, carrying 5 marks. 

(ix) There is no overall choice in the question paper. However, an internal choice 
has been provided in some questions. Only one of the choices in such questions 
has to be attempted. 

 

SECTION A 
(Very Short-answer Type Questions) 

Attempt all questions. 3 2=6 

1. 

industries ? Explain. 2 

2. 

statement. 2 

3. (a) -

belt in India.  4
2
1

=2 

                                                      OR 

(b) Mention any four characteristics of  4
2
1

=2 
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IÊS> I 

 (òmoV-AmYm[aV àíZ) 3 1=3  

4. {ZåZ{b{IV òmoV Am¡a {XE JE àíZm| Ho$ CÎma {b{IE :   

 g_pÝdV OZOmVr` {dH$mg n[a`moOZm (AmB©.Q>r.S>r.nr.) bmJy hmoZo go hþE gm_m{OH$ bm^m| _| 
gmjaVm Xa _| VoµOr go d¥{Õ, qbJ AZwnmV _§o gwYma Am¡a ~mb-{ddmh _| H$_r em{_b h¢ & 

Bg joÌ _| ñÌr gmjaVm Xa 1971 _| 1·88 2011 _| 65 à{VeV hmo JB© & 

nwéf Am¡a ñÌr gmjaVm Xa _| A§Va AWm©V² gmjaVm _| qbJ Ag_mZVm ^r H$_ hþB© h¡ & 

H$s na§namJV AW©ì`dñWm OrdZ {Zdm©h H¥${f d newMmaU na AmYm[aV Wr {Og_| 

ImÚmÞm| Am¡a newAm| Ho$ CËnmXZ na ~b {X`m OmVm Wm & naÝVw 20dt eVmãXr Ho$ A§{V_ 

VrZ XeH$m| Ho$ Xm¡amZ, ^a_m¡a joÌ _| Xmbm| Am¡a AÝ` ZH$Xr µ\

h¡ & naÝVw `hm± IoVr A^r ^r na§namJV VH$ZrH$m| go H$s OmVr h¡ & Bg joÌ H$s AW©ì`dñWm 

_| newMmaU Ho$ KQ>Vo _hÎd H$mo Bg ~mV go Am±H$m Om gH$Vm h¡ {H$ AmO Hw$b nm[adm[aH$ 

BH$mB`m| H$m Xgdm± ^mJ hr G$Vw àdmg H$aVm h¡ & naÝVw OZOm{V AmO ^r ~hþV 

G$Vw _| H¥${f Am¡a _OXÿar H$aHo$ AmOr{dH$m 

H$_mZo Ho$ {bE H$m±  

(4.1) g_pÝdV OZOmVr` {dH$mg n[a`moOZm (AmB©.Q>r.S>r.nr.)  H$s {H$Ýht Xmo 
àmW{_H$VmAm| H$m CëboI H$s{OE & 1 

(4.2) g_pÝdV OZOmVr` {dH$mg n[a`moOZm (AmB©.Q>r.S>r.nr.)  Zo {H$g àH$ma  
Ho$ OrdZ H$mo à^m{dV {H$`m ? ñnîQ> H$s{OE &  1 

(4.3) ^a_m¡a joÌ _§o newMmaU H$m _hÎd KQ> ahm h¡ ?  1 

IÊS> J 
 (bKw-CÎmar` àH$ma Ho$ àíZ) 2 3=6  

5. A{YH$ {dH${gV Xoem| _| H${_©`m| H$m A{YH$Va à{VeV godmAm| _| ? CXmhaUm| 
g{hV ñnîQ> H$s{OE & 1 3=3 

6. (H$) {díd _| AmYw{ZH$ {Z_m©U Ho$ _w»` g§H|$ÐU Hw$N> hr ñWmZm| _| gr{_V h¢ &  
CXmhaUm| g{hV Bg H$WZ H$s nwpîQ> H$s{OE & 1 3=3 

AWdm 

(I) Hw$Q>ra CÚmoJ {Z_m©U H$s g~go N>moQ>r BH$mB© h¡ &  CXmhaUm| g{hV Bg H$WZ H$s 
nwpîQ> H$s{OE & 1 3=3 
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SECTION B 
 (Source-based Question) 3 1=3  

4. Read the following source and answer the questions that follow : 
 The social benefits derived from Integrated Tribal Development Project 

(ITDP) include tremendous increase in literacy rate, improvement in sex 
ratio and decline in child marriage. The female literacy rate in the region 
increased from 1·88 per cent in 1971 to 65 per cent in 2011. The 
difference between males and females in literacy level i.e., gender 
inequality, has also declined. Traditionally, the Gaddis had subsistence 
agricultural-cum-pastoral economy having emphasis on foodgrains and 
livestock production. But during the last three decades of twentieth 
century, the cultivation of pulses and other cash crops has increased in 
Bharmaur region. But the crop cultivation is still done with traditional 
technology. The declining importance of pastoralism in the economy of 
the region can be gauged from the fact that at present only about  
one-tenth of the total households practise transhumance. But the Gaddis 
are still very mobile as a sizeable section of them migrate to Kangra and 
surrounding areas during winter to earn their living from wage labour.  

(4.1) Mention any two Development 
P  1 

(4.2) How has 
the life of  ? Explain.  1 

(4.3) Why is the importance of pastoralism declining in Bharmaur 
region ? 1 

SECTION C 
 (Short-answer Type Questions) 2 3=6  

5. Why are higher percentage of workers employed in services in more 
developed countries ? Explain with examples.   1 3=3 

6. (a) 
a few number of places in the world.
examples. 1 3=3 

                                                              OR 

(b) 
statement with examples. 1 3=3 
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IÊS> K 

 (XrK©-CÎmar` àH$ma Ho$ àíZ) 3 5=15  

7. ^maV _| ZJar` An{eîQ> {ZnQ>mZ  {H$g àH$ma EH$ J§^ra g_ñ`m h¡ ? Bg g_ñ`m Ho$ 

g_mYmZ Ho$ {bE Cnm` gwPmBE & 2+3=5 

8.  CXmhaUm| 

g{hV Bg H$WZ H$s naI> H$s{OE & 1 5=5 

9. (H$) nma-_hmÛrnr` aob_mJ©  H$mo n[a^m{fV H$s{OE & nma-H¡$Zo{S>`Z aob_mJ© H$s {H$Ýht 

Mma {deofVmAm| H$mo ñnîQ> H$s{OE & 1+4=5 

   AWdm 

(I) _hm_mJ©  eãX H$mo n[a^m{fV H$s{OE & CÎma A_o[aH$m _| _hm_mJ© Ho$ _hÎd Ho$ 

{H$Ýht Mma {~ÝXþAm| H$mo ñnîQ> H$s{OE & 1+4=5 

IÊS> L> 

(_mZ{MÌ-AmYm[aV àíZ)  

10. ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 11 na) _| {ZåZ{b{IV _| go {H$Ýht  

  ^m¡Jmo{bH$ bjUm| Ûmam A§{H$V H$s{OE Am¡a CZHo$ Zm_ {b{IE :  5 1=5 

(10.1) aËZm{Jar  bm¡h-A`ñH$ H$s ImZ| 

(10.2) {e_moJm  _¢JZrµO H$s ImZ|o 

(10.3) Om_ZJa  VobemoYZ H$maImZm 

(10.4) nyd©-npíM_ J{b`mao H$m g~go nydu ñQ>oeZ 

(10.5) {Zdobr  H$mò bo H$s ImZ| 

(10.6) ñd{U©_ MVw ŵ©O  g~go X{jUr _hmZJa   
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SECTION D 

 (Long-answer Type Questions) 3 5=15   

7. a ? Suggest 

measures to solve this problem. 2+3=5 

8. 

statement with examples. 1 5=5 

9. (a) -C

characteristics of Trans-Canadian Railway. 1+4=5 

                                                              OR 

(b) 

of highways in North America. 1+4=5 

SECTION E 

(Map-based Question)  

10. On the given political outline map of India (on page 11), locate and label 

any five from the following geographical features with appropriate  

symbols :   5 1=5 

(10.1) Ratnagiri  Iron-ore mines 

(10.2) Shimoga  Manganese mines 

(10.3) Jamnagar  Oil refinery 

(10.4) Eastern-most station of the East-West Corridor 

(10.5) Neyveli  Coal mines 

(10.6) Southern-most metropolitan city 
Quad  
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: 10

:

(10.1) {H$g amÁ` _| aËZm{Jar bm¡h-A`ñH$ H$s ImZ| pñWV h¢ ? 

(10.2) {H$g amÁ` _| ~am¡Zr VobemoYZ H$maImZm pñWV h¡ ? 

(10.3) {H$g amÁ` _| {e_moJm _¢JZrµO H$s ImZ|o pñWV h¢ ? 

(10.4) nyd©-npíM_ J{b`mao Ho$ g~go nydu ñQ>oeZ H$m Zm_ {b{IE & 

(10.5) Cg amÁ` H$m Zm_ {b{IE Ohm± P[a`m H$mo`bo H$s ImZ| pñWV h¢ & 

(10.6) ñd{U©_ MVw ŵ©O  hþE g~go X{jUr _hmZJa H$m Zm_ {b{IE & 5 1=5 
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Note :  The following questions are for the Visually Impaired Candidates 

only, in lieu of Q. No. 10. Attempt any five questions : 

(10.1) In which State are Ratnagiri iron-ore mines located ? 

(10.2) In which State is the Barauni oil refinery located ? 

(10.3) In which State are Shimoga manganese mines located ? 

(10.4) Name the eastern-most station of the East-West Corridor. 

(10.5) Name the State where Jharia coal mines are located. 

(10.6) Name the southern-most metropolitan city 
 5 1=5 
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àíZ g§. 10 Ho$ {bE  For question no. 10 

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 
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Strictly Confidential: (For Internal and Restricted use only)
Senior Secondary School Term II Examination, 2022

Marking Scheme – GEOGRAPHY (SUBJECT CODE – 029)
( PAPER CODE – 64/2/1 )

General Instructions :-

1. You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious
problems which may affect the future of the candidates, education system and teaching
profession. To avoid mistakes, it is requested that before starting evaluation, you must
read and understand the spot evaluation guidelines carefully.

2. “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to
anyone, publishing in any magazine and printing in News Paper/Website etc may
invite action under IPC.”

3. Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and marks be
awarded to them. In class-X, while evaluating two competency based questions,
please try to understand given answer and even if reply is not from marking
scheme but correct competency is enumerated by the candidate, marks should be
awarded.

4. The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. The remaining answer books meant for
evaluation shall be given only after ensuring that there is no significant variation in the
marking of individual evaluators.

5. Evaluators will mark( √ ) wherever answer is correct. For wrong answer ‘X” be marked.
Evaluators will not put right kind of mark while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

6. If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

7. If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

8. If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out.

9. No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.
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10. A full scale of marks __________(example 0-40 marks as given in Question Paper) has to
be used. Please do not hesitate to award full marks if the answer deserves it.

11. Every examiner has to necessarily do evaluation work for full working hours i.e. 8 hours
every day and evaluate 30 answer books per day in main subjects and 35 answer books
per day in other subjects (Details are given in Spot Guidelines). This is in view of the
reduced syllabus and number of questions in question paper.

12. Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

 Leaving answer or part thereof unassessed in an answer book.

 Giving more marks for an answer than assigned to it.

 Wrong totaling of marks awarded on a reply.

 Wrong transfer of marks from the inside pages of the answer book to the title page.

 Wrong question wise totaling on the title page.

 Wrong totaling of marks of the two columns on the title page.

 Wrong grand total.

 Marks in words and figures not tallying.

 Wrong transfer of marks from the answer book to online award list.

 Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

 Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

13. While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0) Marks.

14. Any unassessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

15. The Examiners should acquaint themselves with the guidelines given in the Guidelines for
spot Evaluation before starting the actual evaluation.

16. Every Examiner shall also ensure that all the answers are evaluated, marks carried over
to the title page, correctly totaled and written in figures and words.

17. The Board permits candidates to obtain photocopy of the Answer Book on request in an
RTI application and also separately as a part of the re-evaluation process on payment of
the processing charges.

www.studentbro.inwww.studentbro.inwww.studentbro.in



XII_85_029_64/2/1_Geography # Page-3

MARKING SCHEME
Senior Secondary School Examination TERM–II, 2022

GEOGRAPHY (Subject Code – 029)
[ Paper Code – 64/2/1 ]

Maximum Marks : 35
Q. No. EXPECTED ANSWER / VALUE POINTS Marks

1. Why is ‘access to transportation and communication’ necessary for
industries?

(i) Speedy and efficient transport facilities to carry raw materials to the
factory and to move finished goods to the market are essential for the
development of industries.

(ii) The cost of transport.
(iii) Regional Specialisation manufacturing.
(iv) Communication is also an important need for industries for the exchange

and management of information.
(v) Any other point.

Any two points to be explained
[TB-I Pg 47] 1×2

2

2. “Rural marketing centres cater to nearby settlements”. Explain the
statement.

(i) These are quasi-urban centres that serve as trading centres of the most
rudimentary type.

(ii) Here personal and professional services are not well developed.
(iii) These form local collecting and distributing centres.
(iv) Most of these have mandis (Whole sale markets) and also retailing areas.
(v) Any other point.

Any two points to be explained. [TB-I Pg 57] 1×2

2

3.
(a)

Mention any four features of the’ North-Western Region’ mineral belt in
India.

(i) This belt extends along Aravalli in Rajasthan and part of Gujarat and
minerals are associated with Dharwar system of rocks.

(ii) Copper, zinc are major minerals.
(iii) Rajasthan is rich in building stones, i.e., sandstone, granite, marble etc.
(iv) Gujarat is known for it’s Petroleum deposits
(v) Any other relevant point

Any two points to be mentioned. [TB-II pg 73] 1×2

2
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(b)
Or

Mention any four Characteristics of ‘metallic minerals’.
(i) Metallic minerals are the sources of metals.

(ii) Iron-ore, copper and gold ore produce metals and are included in this
category.

(iii) Metallic minerals are further divided into ferrous and non-ferrous metallic
minerals.

(iv) Ferrous minerals have iron content such as Iron ore and those which do
not have Iron content are non- ferrous such as Copper and bauxite.

(v) It can be mixed with other form of minerals.
(vi) Any other point.

Any four points to be mentioned.
[TB-II Pg 73] ½×4

2

4. Source-based question :

Read the following source and answer the questions that follow :
The social benefits derived from Integrated Tribal Development Project (ITDP)
include tremendous increase in literacy rate, improvement in sex ratio and
decline in child marriage. The female literacy rate in the region increased from
1·88 per cent in 1971 to 65 per cent in2011. The difference between males and
females in literacy level i.e., gender inequality, has also declined. Traditionally,
the Gaddis had subsistence agricultural-cum-pastoral economy having emphasis
on foodgrains and livestock production. But during the last three decades of
twentieth century, the cultivation of pulses and other cash crops has increased in
Bharmaur region. But the crop cultivation is still done with traditional
technology. The declining importance of pastoralism in the economy of the
region can be gauged from the fact that at present only about one-tenth of the
total households practise transhumance. But the Gaddis are still very mobile as a
sizeable section of them migrate to Kangra and surrounding areas during winter
to earn their living from wage labour.
(4.1) Mention any two priorities of ‘ Integrated Development Project’
(ITDP).
(4.2) How has the ‘Integrated Development Project’(ITDP) affected the life
of ‘Gaddis’? Explain.
(4.3) Why is the importance of pastoralism declining in Bharmaur region?

4·1. (a)The plan laid the highest priority on development of transport and
communication, agriculture and allied activities, social and community
services. 1+1+1
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4.1. (b) Production of Cash crops have increased resulting in economic growth.
4·2. (b) Increase in literacy rate.
4.2. ( c) Improvement in Sex Ratio.
4.2. (d) Decline in child marriage
4.2. (e) Any one of the above.
4·3. The declining importance of pastoralism in the economy of the region can

be gauged from the fact that at present only about one-tenth of the total
households practise transhumance and other economic activities have
gained importance.

3

5. Why are higher percentage of workers employed in services in more
developed Countries?

(i) Services are provided in all societies.
(ii) Higher percentage of workers is employed in providing services as

compared to less developed countries.
(iii) The trend in employment in this sector has been increasing.
(iv) It has remained unchanged or decreasing in the primary and secondary

activities.
(v) Developed countries have highly advanced technology in Agriculture and

Industry requiring fewer workers.
(vi) Any other point.

Any three points to be explained. [TB-I Pg 59] 1×3

3

6. Major concentrations of modern manufacturing have flourished in a few
number of places in the World. Support the statement with examples.

(i) These cover less than 10 percent of the world’s land area.

(ii) These nations have become the centres of economic and political power.

(iii) Manufacturing sites are much less conspicuous and concentrated on much
smaller areas than that of agriculture due to greater intensity of processes.

(iv) Example : 2·5 sq.km of American corn belt usually includes about four
large farms employing about 10–20 workers supporting 50–100 persons.

But this same area could contain several large integrated factories and
employ thousands of workers.

(v) Any other point.
Any three points to be explained.

[TB-I Pg 46] 1×3

3
Or

“Cottage industry is the smallest manufacturing unit”. Support the 1×3
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statement with examples.
(i) The artisans use local raw materials and simple tools to produce everyday

goods in their homes.
(ii) The products are manufactured with the help of their family members or

part time labour.
(iii) Finished products may be for consumption in the same household or for

local village market.
(iv) Low commercial significance.
(v) Any other relevant point.

Any three points to be explained [TB-I Pg 49]

3

7. How is Urban waste disposal is a serious problem in India? Suggest
measures to solve this problem.

(i) In metropolitan cities like Mumbai, Kolkata, Chennai, etc. about 90% of
the solid waste is collected and disposed, but in most of other cities and
towns in the country about 30 to 50% of the waste generated are left
uncollected.

(ii) 20% of waste is uncollected in metropolitan cities.
(iii) Waste accumulates on streets in open spaces between houses and open

space.
(iv) Wasteland leading to serious health hazards.
(v) Untreated wastes ferment slowly and release toxic biogas to the

atmosphere.
Suggestions to solve the problem of Urban Waste.

(i) Use of high technology to treat the urban waste.
(ii) Segregation of urban waste should be practised and mass awareness to
be created.

(vi) Any other point.
Any five points to be explained. [TB-II Pg 137, 138] 1×5

5

8. “Inland waterways faced many problems in India.” Examine the statement
with examples.

(i) It faced tough competition from road and railway transport.

(ii) Diversion of river water for irrigation purpose made them non-navigable
in large parts of their courses.

(iii) Seasonal fluctuation in the flow of water

(iv) Takes more time to transport goods then any other mode of transport.

(v) Poor maintenance.

(vi) Any other relevant point. 1×5
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Any five points to be explained.
[TB-II Pg 118, 119]

5

9.
(a)

Define the term ‘Trans-continental railways’ Explain any four
characteristics of Trans Canadian Railway.

Trans-continental railways run across the continent and link its two ends.
Characteristics of Trans-Canadian railways :

(i) This is 7050 km. long rail line in Canada.

(ii) It runs from Halifax in the east to Vancouver on the Pacific Coast in the
West.

(iii) Passes through Montreal, Ottawa, Winnipeg and Calgary.

(iv) It was constructed in 1886 initially as a part of an agreement to make
British Columbia on the West Coast join the Federation of States.

(v) It gained economic significance because it connected the Quebec-
Montreal Industrial Region with the Wheat belt of the Prairie Region and
the Coniferous Forest region in the North.

(vi) Any other point.

Any four points to be described.
[TB-I Pg 69. 70]

1+4

5

(b)
Or

Define the term” Highway”. Explain four points of importance of Highways
in North America.

Highways : Highways are metalled roads connecting distant places. They are
constructed in a manner for unobstructed vehicular movement. 1

Importance of highways of America : 1×4
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(i) In North America, highway density is high about 0·65 per sq.km.

(ii) Every place is within 20 km distance from highway.

(iii) Cities located on the Pacific Coast (west) are well connected with those of
the Atlantic Coast (east).

(iv) Likewise the cities of Canada in the North are linked with those of
Mexico in the South.

(v) Any other point.

Any four points to be described.
[TB-I Pg 67. 68]

10 5
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10.

For Visually Impaired Candidates

(Attempt any five) :

10·1 Maharashtra

10·2 Bihar

10·3 Karnataka

10·4 Silchar

10·5 Jharkhand

10·6 Chennai 1×5

5
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* * *
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